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1. ZHAREEHROIVDPOE (TEVDOZYT) (MEWvwo=y 7)
Bl fifE () el e (nd)
B |EIH 5.52 wwe 7.20
1 R 11. 50 MWC 9.11
B Twe 4. 34 WC 1 16. 26
We 1 5. 67 We 2 20. 17
We 2 5.67 We s 17. 80
% HHIWC 4. 37 Tk BEWC 1.35
5% 3.23 1 Z 12. 60
Vel 10. 44 BE [we 1. 40
MWC 1 12. 60 MWC 12. 21
B%é MwWC 2 5. 60 wwe 11. 84
L= 4.16 We 1 5.16
Wwe 1 13. 20 We 2 3.72
Wwe 2 5. 60 We s 4.92
i 8. 64 Wc 4 4.92
TH] ik =8 10. 92 MWC 1 10. 97
Tk B We 7.16 HWC 1 4. 80
We 1 5. 80 We 1 6. 00
Wwe 1 5.67 éb Ttk B we 7.04
MWC 1 5.67 HWC 2 12. 48
2 |Gh=a—T— 4.16 MWC 2 12. 88
B | 8. 57 wwe 2 12. 88
154 3.32
MWC 2 8. 40
wwe 2 7.12
2. 4LV E—
e il mifE (m)
1. 2FERiE 307. 00
1RV (B4, Z2EHB) 36. 14




